SET -1

Series : SSO/1/C BT
Code No. 66/ 1/ 1
et A TRIeTTl e T STR-YRAH & TE-IS
Roll No. raccroniciel

Candidates must write the Code on
the title page of the answer-book.

e FUNIE AP T IRA-THRT IS 8% |

o TYA-TF H e &1 i 3R ST 7T Hig TR ! BT STR-YREshl & T&-<8 W ford |

o  FUAT ST HY o foh T ULA-UF H 25 W & |

o  HUIT U HT IX [AGHT IE FHIA | Uget, UIA BT HHIH Fa¥T {19 |

o IH AT H TS & U 15 e 1 9O IS T € | URH-US 1 faeRer gaed | 10.15 S
foram ST 110,15 a1 § 10.30 ST T ST HaeT UHH-UF T T 3 T @Y ok IRH
SAC-RAHT W he IR Tal fordwt |

e Please check that this question paper contains 8 printed pages.
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question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  Answer to questions carrying 1 mark may be from one word to one sentence.

(ii) Answers to questions carrying 3 marks may be from 50-75 words.
(iii) Answers to questions carrying 4-5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.
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TS T HICAAT T HT 3T ¢ 2

What is meant by ‘Efficiency’ in management ?

U= ATHTEs BT H THIHhAT B ATl & 2 Sooid HivTy |

How does co-ordination integrates group efforts ? State.

ST & U TR & &0 § fafe = o1 gifse |

Give the meaning of ‘Method’ as a type of plan.

fo=rmera o anfie Scae 1 et aH & ToIT oo o JEmme 3 et iararaar st e
TUEl § §ie 31 | Ui S 1 U fafTe & S ganary, geiae, HY YeEH, STet S
I @G FAT A | FAF YT hI TH AR TEAS b UISRT0T H @l T | U A o
T §RT U6 o 579 rd T (G TShaT 79T STeh! T8e iy |

To make the annual function of the school successful the principal of the school
divided all the activities into task groups each dealing with a specific area like
rehearsals, decoration, stage management, refreshments etc. Each group was placed
under the overall supervision of a senior teacher. Identify the function of management

performed by the Principal in doing so.

Trerer Haeft Forar & erfafert fomitar fofar &1 @i forgpa fotet & wwafeea € 1 29 ot o A
FATRT |

Besides the investment decision the finance function is concerned with two other

broad decisions. Name these decisions.

Teh ST AT ST fafarefieror ST At & 3] Ush Wil Sce— Ha o @t & | ST
W TR STt STEvTHare R faferefierior o TTe 31 SHROT Aied Sooid iy |

A textile company is diversifying and starting a steel manufacturing plant. State with

reason the effect of diversification on the fixed capital requirements of the company.
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7. U olitas AT S GG e Sl 38 Jofifaatd ¥ s A &g URA & & fotw
forsiToe, =afaRTe fosha e Tk Ui dehmiiehl U STRT T =1 3 W&l & | TRl UX Eerad
fauur fs1 o A< St TEAH HIT | 1

A TV manufacturing company is spending substantial amount of money to persuade

the target customers to buy its T.V. sets through advertisements, personal selling and
sales promotion techniques. Identify the element of marketing mix referred here.

8. ATl % AW WG 7 & Wiied | & [hell (Hers TRIal | Mersar i @ o 38! ae i
TR g TE AT I AT T Tl AT ULl | A ST BRA H RhId HAT <A@ o
W A @ied W e @i 1 i T 7 89 % HROT g8 U1 Tl BT GehT | ST
TRY | ¥1ehrEd g5 8 & AU I sl 1 Y107 U T e o, 39ehT ATH SdTsU | 1

On the eve of Diwali Ravi purchased two kilograms of sweets from Nandan Sweets.

On consumption of sweets his wife fell sick and was to be hospitalized. Ravi wanted
to file a case in the consumer forum but could not do so because he did not have any
proof of buying the sweets from Nandan sweets. Name the document that Ravi could
had obtained for filing the complaint in the consumer forum.

9. 3N T & [l b ol 1 Seei@ HiteT | 3

State any three advantages of formal organization.

10. T S A9 & 927 B 9T P RIS & & § @A Aewaw § | UE e |
ToIoaTatl B Sooid ST ST Ueh TS5 S A | g 916l | 3

There are some characteristics that should be kept in mind while choosing a brand
name. Explain any two such characteristics that a good brand name should have.

11. 39 UlhaT ol AW Jd1ET 997 ST U ShifeT ST fohdl Og a1 619 o o0 Sviiera shieniar
1 T T § HEE HLdl € | 3

Name and define the process that helps in finding possible candidates for a job or a
function.

12. U I SNIR i GeTq Tohaeiictar AU it & foft ueh Ak U gighie meties SR &
1T ek IR SIdTe]oT g fgaiaes aeTR & folT WehRIcHeh dei Tl ararerT UeT shiar & I
TG o o TS H AT ISR o fheel A il bl Sooid ShireTq | 3

‘Efficient functioning of stock exchange creates a conducive climate for active and

growing primary market for new issues as well as for an active and healthy secondary
market.” In the light of this statement state any three functions of a stock exchange.
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et 39 vt | 8T [ Ah My feifies” | U Suri ol v off | fauue nees
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G ¥ TqUUH FeEe § USHR TEUT THAT a1 SHeh! Ush YT qHE o T 8T 3%k
T oI TR W AN % T ha STmRe feoham ST |

T3 TqUU eiereh B hig A IR AR Temew feh STanT ¥ et @i sihmika
Topam ST el & |

Neha was a regional sales manager in ‘Good Look Garments Ltd’ for ten years. On
the retirement of the marketing manager Neha applied for the same post as she was
extremely ambitious and had dedicated all her energies to obtain the post of
marketing manager. However, the top management of the company decided to fill
this post by selecting a better person from outside the company. Because of this Neha
was heart-broken and her performance declined.

When the new marketing manager joined, one of her major problems was how
to motivate and inspire Neha to her former level of performance ?

Suggest any three non-financial incentives that the new marketing manager
may use to motivate Neha.

THETET fo ATerA1eh TaTaRvT St ot Fae i 0 § o6 Tepr Teraan i € :

() SUART HQTEAT HT e B °; q=qT

(@) e | & 3§ UREcHT T A H o

Explain how does the understanding of business environment help the management in
the following :

(a) tapping useful resources ; and

(b) coping with rapid changes.

T TITERUT AT Sga¥id Al TUHR.TA, fiiee’ 3o Famed & ot &5 et

RIS SATETEe (gl 1 Urei el & | 59 horaeq 19 37e 33 9 &l STl € |

TURTA, TS’ §RT U Tl STH el 39 YaTeRvT Tl ShReh Heteiad & :

(1) 59 <0 § BT 61 GATo & F@l o S 1 Ie DT |

(2) T 39T B GEpia qe Jfa-Rarst 1 2eT BT |

(3) W Tava § Siee @l UrEm ® GERA & T oS a9 QT 30a1E SUeTsd HST |

(4) FIAT T UH U GG A TR BT ST Yee T 59 & TeT qRENe 9 e
T St T A G SATRITA TSRSl T SH-A16AT H Jieg e G |

IR

() VEY % TRl U G g aor fhdr U SAradiae YAt St Sy bt
TEE Y gU IUHT o0 HIfT |

(i) UF =l 3 goar @l ff Team i ¢ ST enHasT fagra aen waieRor
Tl R FHST I T HR € |
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An environmental conscious multinational company “AXN Ltd.” follows certain well
defined business principles that result to minimize the employee turnover. Following
are some of the important environmental factors followed by ‘AXN Ltd.’

(1) Honour the law of every country in which it operates.

(2) Respect the culture and customs of all nations.

(3) Provide clean and safe products to enhance the quality of life throughout the
world.

(4) Develop a culture in the company that enhances individual creativity and team
work while honouring mutual trust and respect between management and
labour.

From the above :

(1) identify and state any one general principle of management and any one
dimension of business environment.

(i) also identify any two values which the above guiding principles and
environmental factors are conveying to the society.

TR 3 el ¥ TE eeE A o wias § o A & a9 FH BT € 2 A W H
MR I H F Th & | 3%k (70 STawash & o $ oft o ¥ Ut veiwsh Ueh fqam o
H 1T € o o/ 1 B [ ST | T8 1l ISHIHehdT a2t ey 9 31fd Fehe 9 STer
T ¢ | T€ B9 Fel T ¢ 41 66 @l ST & % 7ed A 1 B Bl & a4l 3 U &
T X WY freated foper S €

T B gU o YEY % IS AU 1 H SHE G § | IHE! o a1 dnet W
HHEART |

It is deciding in advance what to do and how to do ? It is one of the basic managerial

functions. It requires that before doing something, the manager must formulate an
idea of how to work on a particular task. This function is closely connected with
creativity and innovation. It seeks to bridge the gap between where we are and where
we want to go and is performed at all levels of management.

Inspite of this the function of management referred above has a number of
limitations. Explain any two such limitations.

ot TR T B & A Ueh YRA Yo T § THe GHET ey | FIaeha? i Sumd ure
FE | U 2o T Hr B SHR! g Ae GO YU & €9 H gg € | B &
T 1,500 SHEER] & T 3T U IEH! [0 &1 Teh I & 5199 29 {aig=1 Tehr o st
% 1w 500 31faRex =il S STawshar € | & TR T HEAT & TG GG a9 o
o SRR GO S MR |

3 fafere niafafuat 5t gt ST S et & Ae THEA T & &9 9 R B
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4

5 [P.T.O.



18.

19.

20.

66/1/1

Mr. Naresh recently completed his M.B.A. from one of the Indian Institutes of
Management in Human Resource Management. He has been appointed as Human
Resource Manager in a Truck Manufacturing Company. The company has 1,500
employees and has an expansion plan in hand that may require additional 500 persons
for various types of jobs. Mr. Naresh has been given the complete charge of the

company’s Human Resource Department.

List out the specialized activities that Mr. Naresh is supposed to perform as the
Human Resource Manager of the company.

ST D HTAME YTt bt STTIARATST T T X ATt foheal TR PRI T Seoid DTy |

State any four factors which affects the requirements of working capital of a

company.

MU AT 7 IR T W T ST TR B drett 10,000 Tie wiafeT s e arett vk
TR WehHUT SohTE Shi ST Sl & | ST o AT He & ST ol 100 fHetietie? aret 221 Uk
7 fouH # H § | 36 foTT T ot Teures Hifg |

Your company has setup a food processing unit in Kashmir with a production
capacity of 10,000 litres of apple juice per day. The company plans to market the

apple juice in tetra pack of 100 mili litres. Design a label for the same.

T FHIAT T 20,000 FIE DT MeH ST Ut & A1 HET ATFET & ST uStihd § |
SHT USTIghd AT feoett | T ST SR THE ISRAM & U fuse et o fera & |
TqH fouu faumr et # ferd & 1 S BRE gfer Hg Y (TEUH.EIST) @
IR A E |

(i) T o =l Feraar ¥ A o [oTT SUgeR TS erdl o eI AT |

(i) 39 WA T & fh=l A ™l &1 Soerd HiY |

A company has been registered under the Companies Act with an authorized share

capital of ¥ 20,000 crores. Its registered office is situated in Delhi and manufacturing

unit in a backward district of Rajasthan. Its marketing department is situated in

Bhopal. The company is manufacturing Fast Moving Consumer Goods (FMCGQG).

(1)  Suggest with the help of a diagram a suitable organization structure for the
company.

(1))  State any three advantages of this organization structure.
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21. U % S¥M H1 % Hewd o (el urd fagatl sl THeiey | 5

Explain any five points of importance of directing function of management.

22, ‘SMEHA (i-%iF) e feafce’ Temgfe St & HieTeet ®IF i FHET & | BT o ST
T 30 TSNTTE ol URTTere foham & | e 37 HisTeet T T fauu T qem SRS TR
T AT & | 3T - ! T[UTET o BHRUT HEAT BT ST b HIHl T 9T T =07 o
qAT 3G Ueh e a ST o | fUsel foxdia a9 ¥ 9ok | wfaeel o SRT BT
3T T8 Tl F&l hY T <&l &Y | SHEoAT bl AISTT STOHT =0T HuTIedt ST SHUTR e ol & |

(i) ST ST | F-ed Ha= 1 STTIROMST I T@=-u |

(i) SHOTYR % T 90T Uisham & 3 TRON ol od1E0 S ATeq d HET ST 39
T T AT =Rt & |

(i) T fdl U Go T Sooi@ o HifSTY F7 AT THHST bl GEITTT T TR € | 5

‘i-phone India Ltd.” is a manufacturer of advanced category of mobile phones. The

company trained its engineers from Japan. It markets its mobile phones domestically
as well as internationally. The company had a substantial market share and had a
loyal customer following because of quality of its i-phone. From the last financial
year the company had been unable to achieve its targets because of competition in the
market. The company is planning to revamp its controlling system.

(1)  Identify the concepts of management involved in the above para.

(i) State the steps of the revamped controlling process to be followed by the

company to solve this problem.

(ii1)) Also, state any one value which the company wants to communicate to the

society.

23. 379, 3EHS OUT Uel Ush %H H HIERR ¢ ST HeNZ 5T H S SATRT ol foaeor et ¢ |
AT 1T ATEATHS U1 S ¥ AEHGH T P Uh Jehieqeh [OuF & T FeaaH
ATy fo=iTer AT #T 4R § | AR F S W a9 el 4 U F A EAahR
fopa gem & | U f577 oteHg o Uedl | vy i Upia & fawa H T =l g | 3TeHs 1 T
TP o7 Toh UeieT Ueh URT & STelich Uel g9eh foR1g H off | ST el o foh A a7 Aisshel
T9T & heet UST €, Tk o UST o TeTw FEiia Tt 91t o QU A & | A 3T %
3T [ & YR TR ST = 3gHS AT UeAT bl VeI i Fepicl o ®Y H UST I THSAAT |

U o 3T = 3TeUS T Uetl JM1 i fohd WehR T T | 6
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Aman, Ahmad and Ally are partners in a firm engaged in the distribution of
dairy products in Maharashtra state. Aman is a holder of Senior Secondary School
Certificate from Central Board of Secondary Education with Business Studies as one
of his elective subjects. Ahmad had done his post graduation in History and Ally in
dairy farming. One day their was a serious discussion between Ahmad and Ally
regarding the nature of management, Ahmad argued that management was a
profession. Where as Ally argued against it saying that the legal and medical
profession are the only professions because they fulfill all the conditions of
profession.

Aman on the basis of his knowledge of business studies explained the nature of

management as a profession to Ahmad and Ally.

Explain, how Aman would have satisfied both Ahmad and Ally ?

fepelt ST % Yo Ui o e s el 9gd @ %R B & | U fohel TR et @l
THATET |

There are number of factors which affect the fixation of the price of a product.

Explain any four such factors.

ST SR A1 Oofl TR § 7 & SR 0% 31 ST

()  CHm;

(@) Wi

(M g, 41

(| Feferet Hiereet

Distinguish between money market and capital market on the basis of :
(a) Participants

(b) Instruments

(c) Safety and

(d) Expected return



